Economics 051
P. Conway

11 December 2006

Final Examination
This examination is being conducted under the UNC Honor Code.  Please comport yourselves accordingly, and sign the pledge on your blue book after completion of the exam.
I.  Definitions.  Please define in no more than two sentences eight of the following terms (32 points).


1.  marginal analysis


2.  profit


3.  law of demand


4.  Coase Theorem


5.  counterfactual


6.  permit auction


7.  fixed cost


8.  utility


9.  outsourcing


10.  exchange rate

II.  Essays.  Please answer four of the following questions, using evidence and references to readings (68 points).

1.  When the three major textile mills in Spindale, NC closed between 1998 and 2000, there were nearly 3000 workers left unemployed.  These workers were by law entitled to pensions and 30-day notice of termination.  In one case they also received severance payments from their employer.  In addition, the town government’s revenues were reduced by 20 percent due to loss of property taxes and other fees paid by these mills.  The town as a consequence cut back on the number of police and fire professionals and closed the city swimming pool.

Define the concept of negative externality.  In this example, are any of these effects of textile mill closures negative externalities?  Explain.  If there were no externalities, was it because the externality had already been internalized through legislation?  If there were externalities, could these effects have been internalized by legislation, regulation or negotiation?  Explain.

2.  The Carolina Panthers is one of 32 teams in the National Football League.  Describe carefully the characteristics of the product that the Panthers sell to consumers.  What are the closest substitutes to this product?  On the continuum of industrial organization between perfect competition and monopoly, where will you place the Carolina Panthers as a business?  Explain your reasoning, being sure to relate your answer to the ease of entry of new firms into the market.  Why don’t we see NFL teams shutting down (i.e., exiting the market)?  
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3.  Hog growing and processing have become major economic activities in eastern North Carolina.  The scope of these activities was frozen in size in 1997 with the establishment of a moratorium on creation of new hog farms or expansion of existing hog farms.

Describe the equilibrium between demand and supply in the market for hog finishing services.  (Remember:  Randy Smith is a hog finisher.)  What role does the moratorium play in defining that equilibrium?  Describe in detail the differences between this equilibrium and the one that we would observe if there were no moratorium on creation of new hog farms or expansion of existing hog farms.
4.  When the government decided to eliminate the system of tobacco quotas and support prices, some of the farmers were quite happy.  One was quoted as saying “I’m glad that those quotas are gone, because I know that I have a comparative advantage in growing tobacco”.  
Explain what the farmer means by comparative advantage.  If he is right about his comparative advantage, how does removal of the quota system benefit him?  Should it make a difference to him whether he is a tobacco quota holder or not?    Explain.
5.  Critics of Wal-mart claim that Wal-mart doesn’t increase the community’s income as much as it claims.  For example, Wal-mart might claim that opening a store in Hillsborough will lead to $15 million in annual sales; with a multiplier of 1.2, this will raise annual incomes in Hillsborough by $18 million.  Wal-mart’s critics (as we saw, for example, in the readings from our web site) claim that the income multiplier of a new Wal-mart is much closer to zero.
Define the circular flow, and relate it to the multiplier.  Describe the sequence of transactions in the circular flow that leads to Wal-mart’s claim of an $18 million impact.  Then, describe the critics’ claims in the context of the circular flow.  Where does their view of the impact differ from Wal-mart’s?  Would you describe the critics’ view of the outcome as a zero-sum game or a positive-sum game?  Explain.

